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Atomic Notatlgn

 Fach element has r1st1c number of
protons 1Réh@ﬁﬁﬁ leys, di’ is 1s the atomic number,

The total number of protons and neutrons in the
nucleus of an atom 1s the mass number, A.

* We use atomic notation to display the number of
protons and neutrons 1n the nucleus of an atom:

mass number (p*and nV)

%Sy — symbol of the element

/

atomic number (p™)



Using Atomic Notation
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How many protons does sodium have?

How many total protons and neutrons are there?

How many neutrons are there?
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Using Atomic Notatlon Cont’d

 Therefore an atom &%u@?l\lm looks like this..
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Using Atomlc Not\gtlon

State the number o “,?g 1n an atom of each of

the followsin& 3
prev® Pag

a) PN
b) 58Nji

c) Iodine-131
d) Hydrogen-3

e) **Cr
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Simple & Weighted ﬁverages

G-
* A simple average am’tﬁ% \t%e same number of
each objectn 1¥© | 7 0
PV pag® |
* A weighted average takes into account the fact that

we do not have equal numbers of all the objects.

* A weighted average 1s calculated by multiplying
the percentage of the object (as a decimal number)
by 1ts mass for each object and adding the numbers
together.
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Average Atomic Mass

cO ¥
 Since not all 1s0t0 Wﬁﬁ\atom are present 1n equal
proportlon a@)u@& weighted average.

. Copferehas tv?oeﬁ otopes:
— 63Cu with a mass of 62.930 amu and 69.09% abundance
— 65Cu with a mass of 64.928 amu and 30.91% abundance

» The average atomic mass of copper 1s:
62.930 amu x 0.6909 = 43.48 amu

64.928 amu x 0.3091 = 20.07 amu
63.55 amu

— Exact number showi
® “—on the periodic table




Periods on the Perioqkic Table
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T'he 7 periods are 1?1‘38& q\?hrough 7.

The ﬁ{:é(,p@fiod B@sﬂ&l?y 2 elements H and He.

The second and third periods have 8 elements
each:

— L1 through Ne and Na through Ar

The fourth and fifth periods each have 18
clements:

— K through Kr and Rb through Xe




Groupings of Elements
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The 1inner trans1t101§\§d®§’%}ts are divided into the
lanthanid ) aﬂ@ tiicUctinide series.
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Assianed Readi ]
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* Read pages %ﬂdﬂ? T’&g&page 110) 1n textbook.

\9(6\"6 page
 End of Chapter 4 Problems:
5,9,11,13, 15,17, 19, 27, 33, 35,41, 43,
47,49, 51, 53, 55, 57, 61, 63,65,67,69, 71, 73,
77,79, 87,59,93,97,99, 101, 109, 115

(Answers at back of textbook)
e Practice Quiz link http://education.jlab.org/elementflashcards/index.html
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